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(A) Al Doy, (B) Riledieu
(C) Al Dy (D) 2t 244 2yl e
(13) " o AL s 256’ A\ 1»{2{ “Youare good’, 367 it 1% We are 2ood i 358 L 2 cood and
bad dl A-wmief and «j) 51 TN ‘
Yo . (ﬁ) 2 (B)5
3 (C) 8 : (D)3
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P .
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(27) Choosc the synoﬁym of the word “ancient’.

(A) very fast (B) very old
(C) angry (D) amazed
(28) . Which onc is the nearest meaning of the word “explain’ ? -
(A) expand (B) describe
(€) teach . (D) simplity ‘
29)  ‘ddld ;i\wuéw 530 ugdl 215 viedl wmﬂ oLl 56).” - 2l ASHHL AURIAA Eﬁﬂ’
gloe~l 21 g Ay ? '
(A) 21214 (B)%oul
(C) Ul (D) gadl
(30)  Arrange the dialogue between two mosquitocs by sclecting lh-c appropriate order ol sentences.
| I. Don’tmiss the chance.
2. I'will not suck his blood.
3. Th.is boy’s blood is very sweet; let’s attack. '
4. Enjoy yourselt, I have diabetes.
(A)4.2.3,1 s4(B)1,3.4,2
(C)2,4,3, 1 (D)3.2.1.4 («
(3‘1 ) Al viidl Aeell uradl [Qsey el
(A) dlqla (B) [A-dl
(C) [aridl (D) [a-ild @
(32)  2uddi qisdlHi GRId [ A uq‘ta@ql eld dg aisd 4 89 ? |
(A) viellzt 2ud, Q10 RviRLs 01y, 53] ataza 2t a1,
(B) UL oty : ALt st [ . (4
(C) ¢ $ecll il - 8 ol 214l 3 - AR Al viae-L 9l ? ‘
(D) st quidel 241 2105 (53) w239 -2l
(33)  ud, Al 2ua. 514 2l oy, it sl Y12 eudl.
(A) 3l atsy (B) Rt ausa (43)
(C)usufaisy (D) g s
(34)  Which sentence is not correct 9
(A) Jitu is my elder brother. (B) He is older than his sister.
(C) Manu s my eldest son. (D) Heisthe eldest boy in the family.
IQRLL 23-D | (6/24) IQRL
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(35) qe@cmuS 2 girL vtaled gl sl o eidudll sla ‘sipelanan A usss onud)

() aellwetin 21902 (B) URes AZIUIAIY
(€ oilswis s (D) Reledl
a6 A o1 2lor ) R4 iz il 467
(A)2uell - -(B)daL
0%l (D)4 - cll |
67) ‘el g el el siear oo W D). - sl e BulRdne el
(A) Eluail (B) g2
(€) wmq‘{ , (D) B3,
(38) " Thereisno ....vvvevveeevennee in lhc lamp.
(A) weak | (B) wick
(C) week o (D) wake
[ 1 TR SR Swati ................. her homework regularl'y ?
(A) Do, do (B) Do, does
(C) Does, do » (D) Does. docs
(40)  She has been playing the guitar ................... . two hours.
(A) éince . , l (B) last
C)yet - , * (D) for
@D, “syoni Q3L i, dL euani BBl oy’ - 2 g s3ay ?
(A) RS ' (B) 2feuyiay
(C) 58l (1) 2l
(42) Banks will not provide you l()aq u11l§ss 1) R S them your orj ginal' i
(A) provide (B) don’t provide
(€) provided (D) will provide
) Find out the correct spelling.
() stomuck o (B) medicin
(©)headach (D) severe
TP (7124)
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(44)
(A) MRy [Qeuetast - vivisai-e (B) A1 Al AL - o4& U191
(C) A Yy 2518l - uoe Yo (D) A2l A4 uRye - R0
(45) ld w66 141 Rl oAsell €ld dal 6% 54 697 ;
(A)Rdn (B) Aty
(C) glog (D) [t
(46) C hoqse the correct sentence.
(A) He Secs he has made mistake. (B) I'c thinks that it will rain.
(O)1 le has_don_c all that was nccessary. | (D) He says that he hqd decided to cat it.
@7) Dl 10N uoe Aol sHi oLl
Aled, dlsR  Ues R, e, Alrs
(A)ARs, e, e, 21512, ucsi2
(B)auef, AR, Acs1z, Aled, 2lls12
(O AcsR, e, 2ellsR, ARs, il
(D) 4esR, ARs, e, 2412l wlls12
(48)  Select the proper word forunderlined word.
- The eagle can see very far. It has sharp eyes.
(A) big (B) powerlul
(C) beautiful (D) black
S Tsheuld .o o0 the i)()st office today.
(A) go (B) going to
(C)to go (D)goto
(30)  Choose the antonym of the word ‘rapidly”.
Wslow - (B) fast
(©) quickly (D) slowly
(51) . MR }MI Y L qitqg‘, A s ?
(A) Bl (B) -oUd =
(C) vlBYR (D) Aenay
I‘QRLL 23-D
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oLl ARABLS ISl FUUS 8 1A U iel] Ul au3yle it 313 " GEeu 58
YL eAL €9 7

(A)YAad] dil

(34)

(B) Wle=toU QoL -

(C) AR A YU Qe

(D) clefau™, QoL

58 Al ol e wiedl Wall el oue el auon At Sy o Rl 3ean 3fu €+l

AU RTE Act-2009 Hi s2aM 24194 & 7

(A) 3L. 50,000/- ; (B) 3L. 1,00,000/-
(C) 3. 75,000/ | , (D) 3L. 20,000/~ -
[sudiq g_i,é ? |

| (A 10Kms® A (B) HR12ll+ £lé 252401

(€) 1025 2 Bes SA2l uRABIAL (1) sutuge
Setue QoL 565 oplotd 1 AsoUA D ?
(A) [Aget 2171 314 20URet a2y

~(B) taRatd Mnlal

(C) eyl Hiauisly sy
(1D) Raledlill clls HagiR gg[?{turﬁ [Asy

(36) - [Biaei Aaswele (Constructiv lsm) t{,‘-**{rq LRt 0l sl g‘9 ?
(A) dl-8155 L (B)wddly
(Cydler . R e s DT

(57) %u[?c,cm{l AL AR Aol s [Ezfcﬁuu iy g9 ?
(A)elele _ (B) 4w g
(C) oL | (D) Ao 5181

Ol e (lld 20204i Bi-cllbamtel viowydom Stu 4RGN 33 AAAUY D ?
(A)a1eL 68 - (B)dReL oy .
(C)diRa 3 4l 8 D)HlRal | ¢f) 5

) Bosgte], siallet w1 9 o ?
(A) 4y 538 ~(B)uRHy
(C) dafaiey (D) mal=s
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(60)  “itiRerl 541 vigedeell cucnag] u2 Mol Ysai 2udd & ?
(B) 429¢ - 21

(A) 2gA9E - 19
(D) 21 %9¢ - 25

(C) 14%¢ - 24
©61) Ried] t&%_«urﬁ 4o dd 4 B 7
(A) 2Rl Bt LSl >uRou-Al iR
(B) o Radia-tl LSl Yousdl
(C') A]ofl v {lAL cﬂs_“tcu )L AH1R0 Yara
(D) Hlcll 4y €2 U 1YY €2 B2lgcll
(62)  Aosuci-iL sut Brectiziii alel ay g st Hidald ?

© (A)ousisl _ (B) %-ille
(C) vixelae | : (D)
(63)  NEP2020 ictold YA National Assessment Center o 13 9 £ ?
(A) WL (PRAN) (B) 4¥{ (PARAKH)
8 (C) ks (NASC) | | (D) A5 (SASC)
(64) il Wlell a4y aacdl AUl yR1ad) Bree) s & ?
(A) wss)2 \ (B) yad
* (C) adlerL (D) »Heldle

&4l 3+l (18191 (MLL-Minimum Level of Learning) 412 54l [R1&121205{l Al A3 A & ?

(65)
w R (A) BrogeisS ot st (B)%. ey
(C) B3l 35 30 (D) :ellsoisS £ (7
(66)  G-20 Hi $laL A ol ? o
(4) st (B)UK
(C)usA (D) slllBe
(67) ‘(Y8 o L yvu GEel 51 Ay W 6 ?
(A) yed miafsel ql2a 3 (B) {281 1 244 2 (75)
(C)HreL 1 o] 3 (D) yel M1 Fasell Hivel 2
(68) MOOC Hi g [Qruaaimi »ud & ?
(A) el ulay Ygld’ (B) vlleitst [eis drely
(C) AHIYS HLALS Ao IA5Y (D) susAoL gi21 [[esl :
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(73)
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(75)

IQRLL 23-D (124

Aly [asl —[E[&—gozo gtz 520 e et el wePusell AL weBus Roeuat gl 1007 Ut
quon HAgL AN Ag g vl HAd B ?

(A) 2029 (B) 2028

(C) 2035 . (D) 2030

AoiRsd (igilart) RAUS gt ARURsdl ARFD el sl 2dd, A wRRAA S

i ctaai 2udd ?

(A)2021 (B)2018

(C) 2020 (D) 2019

(R el Baa Grasll suR e !

(A) 2 ARWIR (B) 5 412142

(C) 8 ALMI1R (D) 17 423012

RTE Act-2009 L 58 sc3 [ Asurt 859 210l 2 2aufLs A 3l MZa 2R HlealH
2LUell 3 AR 2R 52U T

(A)33 - (B) 38

(C) 35 (D) 34

o1zl iR et WHd Bl wAA A el 58 53 edl?

(A) 3L uRei-ie Rirsl

(B) 3. oL AR, AISR

(C) SL. WldiriL 205e s

D)ol ud

Rl ilEs 13 Rusdneucts Blart vladel 1 GCERT gl 541 5123 »i2(c 28l
M AU S 7 \

(A) At 41 53012

(B) Slaie [Asiat 51253

(C) sl 2018 AL sla Yqqyi-e WA

(D) 35564 2ALA
NER 1 GER decl g 7

(A) GER <NER "~ (B)GER<NER
(C)NER=GER ' - (D)NERZGER




[Qeqdl - 2 MLl

(76) | 3L 2 Artl ] eRe vil2l [Asey s4Le9 ?
(Aj Qs ¥ H 3G - U~ ol g (B) Hid 539G - 8RU4Y
ke )

(C) Aadl sl - Q- 59 (D) el auell - g5t ag
-— ;
77 A il Rl i R w1l Rsey areudl.
(A) [Qeifset U % - d ve A1d AL o quuy.
(B) [Aei(3 ueul Fefl 5131003 vregait tmHlofl uedl e92t evity.
(C) ‘Y’ [uled % - o el 2eaL ey,

(D) ‘ell’ [Fulet % - o wel el evuy,

(78) 516 mee als il wiesen 514 59 28 B, A 1 WL .7 - GE- A Midt Yot
ke (A2 ooud.
(A) 2+ g+ -+ +4 + 2 B Rt T el g Bl R
O+ +u++Yy D)u+g+B+Y+Y+
(79) MR, BN 247 3wy - 21 ALY o104 AL Wl iy dal 2ior- skl
(A)& (B)§
)¢ (D) %
(80) L suleder oie e ?
PURLILRLL, UGG, UL dUeodl
(A)¥elsivd) (B) QiR
(C)yedl (D) 8[R30lq
(B1)  UeUds A1 Bol014s Simy usz & ?
(A) ddlogs (B) 5
(C) Uy (D) [y
(82)  “Gav{l 3 2l o2 3 0 - i >
e WL ad 34 ol - e @y ARAAY, ‘%8’ 9168{| 2] oAy ?
L - .
A (B) {idi-Qqy
(83)  AlAAL U4 sy 908, { 3 s
A = *ﬂ AL ey U - o crorqef] 2§ £ 7
(A) dRe1%? ‘ (B) ™)
(©)>Rfus (D) ety
IQRLL 23-p (12/2—4)
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(84)

(85)

(36)

87)

(88)

(89)

(90)

(o)

(92)
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541 208 ‘MR ) ?

Aard (B) (sl

(C) 2 | (D) 4313

e vl : ‘ollg g LB, oY B 4% gL, ” 5l Wiok YA s 50 4y,
(A) wealaslRd (B) >y

(C) ARidlaast (D) Helslel

Rl ARAAS sl dal [Asey syl e ?

————

(A) it = id: + dtd , (B) Rig[® = Ry + 63

(C) Adlel = AAd + llal - (D) 2162 = 264 + %

fle wiall-l oliea @A Aouni el LLsoll’ 2B sEc~ll U512 wRual.
(A) A 5€d (B)oi4s $Ed

(C) e g€ (D) dcadf g€t

% 9153 AL A %L 2L dLAl: AN AlsHrl U512 B3l

(A)dYsdalsdt . . (B) AULE ALY

(C) (st ausy S (D) GEAUR L5y
‘ogayoell Wl 514l AR’ - AL ACELA[E HI2 s 26t 1YL
(A) [Ades | (B) Gde.s

(C) Gevirs ' (D) @-ii\c.tg

21U aLsHll iEd 536 woerll vildl A3ell $lu dg disy sy & ?
(A) &30l BglR 53l Al Y1R6IR 5841, (B) Ax Rasiiell ya- s5141.

(C) et BLel aai? dlanell Glew 84 U (D) N A5430 H1sll>il-it vid AL

‘qeleit@- 34 38l ARY, HAd d 4Ry HIT. T - 21 ausyii IwiBd s 9168 RSNLLHL $4l
usiR ey ?

() yeiats Bue | (B) dviteuas Rane,

(C)dal-lms [@Qauer (Q) Avdlqiys Qg

AUl arsimi s4 dsd sdRasa 7

(A) Liellell 212 ussial.  (B) &gl dad o Gl v 2yl
(-c_‘_) & O % el v aslal, (D) zfuugl_ YLl viLec e9dl. |




: A o ?
93) el ! Raea & [Amadl ! YA ASAHL (a@uzquﬂ 54 USIR AL HA 9

2)
(A) s GgalR - @.Q.{bt\m*lm‘%,‘r GeolR
(C) HaAds BgAR | ' (D) Fimau s Ge2UR

Ul Ll ' Aas N sl !
(94) LUl AT WABc ACELAL At USR BAAA S, d sl ws
(A) 3l Al wdal AL angl ouullan. - geras At

(B) Hotell 53 dl ar 2181 %S AL, - elladls ¥all
(C) ML &R tivy {1, - culscaias dst
(D) Al 515 Rt >R 3 e diset 54 Sl ag 3 2re el - Baiauus el

(95) it sl Usl sy cusy ‘ad asy' 9?7

(A) DAL, AL o8l B U 5181, (B) dHI2 AHHUR &AL ad Al usd.
(C) dg, UL Al dl. (D) 213, MRl Qai gael ! 3wy !
(96) Thereare.............. ..... speech sounds in English lanaguage.
(A)24 - (B)44
(C)206 » - (D) 40

(97)  Join the following sentences. Select the proper option.
- Ram visits library at 5 pm.

- Shyam visits !ibl.’a‘ry at 5 pm.
(A) Ram and Shyam visits library at 5 pm. (B) Both Ram and Shyam visit library at 5 pm.

(C)Both Raﬁn and Shyam visits library at 5 pm. (D) Ram and Shyam both visits library at 5 pm

~

[98) . Rahil v eiasn vegetables everyday. Put proper verb form in the blank.
(A) bring (B) brings
(C) brought ‘ (D)isbringing
. bt tests the learner’s ability to apl-)ly/what he/she knows or has learnt to rev
situation: ' '
(A) Proticiency Test (B) Achievement Test
(C) Placement Test ' (D) Diagnostic Test
(100)  Yamunaisonc ol the longest,........coovevinnenn in India. Puta proper word in the blank
(A)river (B)river’s
(Chyrivers (D) riveres

IQRLL 23-D (14/24)
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; L scl prope ion for the underlined words.
Amit went hon.m 191@1;01cs.‘l. Select vlc.)Dqu_uestmnlorlh d .

01 :
i (A) Why did Amit went home ? (B) Why did Amit go home ?
(C) Why do Amit going home ? (D) Why do Amit gone home ?
(102) Choose the synonym tor the word : Forbidden
“(A) Forgiven (B) Dismissed
(C)Fired ~ (D)Notallowed
( l‘()3') Which pairis not correctly coupled ?
(A) vibrant - lively (B) allqri-ng - precious ‘
(&) sﬂcndid - i|11p|'c$sivc (D) enchanting - pleasant
(104) VISitors .....cccceevvennnn, not to feed’ the animals. Fill in the blank with proper word or group of words.
(A) réqugst _ S S _(_l}l are requested
Q is 1'e.quest§ed (D) requested ;
(105) Please .....ccooeuvnn..... your shoes before you enter the room.
(A)takein T (B) take out
(C) take oft | ' (D) take for.
(106) *The spoken asl)-ec.t is neglected; reading aloud is encouraged : which method is this ?°
(A) Grammar Translation (B) Direct .
(C) Bilingual ‘ . (D) Communicative
(107) Tlalways find her responsible. Find outlantonvm for the underlined word.
(A) unresponsible ' (B) inresponsible
(C)ilresponsible ™ (D) irresponsible
U 08) pm L edme S ------ refers to a way ol tcaching a language, which is pased on systematic principles and
(A) Approach (B) Technique:
(C)Skill | , (D) Method
109) ;:,i i)i[v;rscposm 0 ns ...... Ahmedabad. She ownsahouse................ the Sabarmati river. Put propey
(A)in. R ~ (B)at,on
©na S
QRLL 23-1) (15/24)




(110)

(111)

(112)

(113)

(114)

(113)

(116)

(117)

He will never help you. Identify the underlined word.

(A) Noun (B) Adverb

(C) Adjective (D) Conjunction

Qi\fc- onc word I'ox“ the phrasc *A study of birds’.

(A)Zoology : (B) Etymology

(C) Eth-nology‘ * (D) Omithology

ll‘lhé doctor had arrived in time, the paticnt’s fe ......cocooeevnve. saved

[ill in the blank with proper verb.

~ (A) have : (B) have been

(C)will have (D)) would have been

cnensesnnennnnnn. SUREESHS the path to be followed while teaching skills.

-

(A)SLRW_ T (B) LSWR
(C)LSRW 018 dianBuq ) RwLS

Tick mark the crrorless sentence..
Al e e
(A) Riyais more intelligent than all of her sisters.

(B) Riyais the most intelligent of all another sisters.

- (C) Riyais more intelligent than any of her sisters.

(D) Rivais so intelligent as no other sister of her.

'We have stll . imitoases money lett in the bank.

(A)alile » ; ‘ (B)a lew

() litlle ER (D) few

for e H sraram=ss T &y gen § 2

(A) STETEAT <Rl eV 1 TR A bl e |

(B) H7o4 HYFanaT @ fagia sHgd S € |

(C) B 1 791 feramael W e 3 =ifeu |

(D) &t =t AT SAfereh ¥ |

ez A AT S TE=ITY |

(A) ETe - fored : (B) T - Hare
(C) G4 - i3 (D) TFE — aqreen

IQRLL 23-D (16/24)
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) ‘wafa % ST faer’ %mm@mﬁmﬁml
; (A)aﬂﬂaufgw‘mﬁa'—rm (B) T, 3T9+7d, ST, GHS
(€)1, o, st A (D) 3734, f‘%maﬁw HATFA

(119) AT e HETe < Fel e T |
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